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BEM 期中考 (Take home) Nov. 16, ,2006 Fall
1. Solve the rod problem (
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 for the Dirichlet problem 
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(1) Find [U] and [T] such that 
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(2) For C=0, prove that det[U] is never zero for any positive 
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(3) For C=
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2. By using the indirect BEM, 
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 was demonstrated where 
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 for C=0. Please solve the problem by choosing

(a) odd number student: 
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(b) even number student: 
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3. Find the fundamental solution of infinite string 
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  Determine the Green’s function of semi-infinite string 
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subject to  
[image: image19.wmf](0,)0

Gs

=

   [(a):odd number:fixed end]   

subject to 
[image: image20.wmf](0,)

0

dGs

dx

=

   [(b):even number:free end]
4. Find the boundary integrals using separation variables 
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5. Derive the M kernel (closed form and degenerate form).
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